Midterm Exam: Formulae from Weeks 1 — 7

t'=1vy(t— Pxlc)

T X =y@x-pPto)
| V=y
Y= 5 7=z
y —-y3 0 0
A=l B 00 ar=2
0 0 1 0 Y.
0 0O 0 1
dx"
x* =(ct,x,y, H=——=vy (cu u u,
(ct,x,y,2) = %,( ; )

I'=(cAT)" = (cAt)’ = (Ax)" = (Ay)’ = (A2)’

t=y( + Bx'/c)
x=yx + Bt c)
y=y
z=27

f' I_B I/l;'l'\/‘ u 2z
= — E}/ = hf u, = — . — y, 5
f 1+ 1+ulv/c y(1+uxv/c)
T~ dl_é 2 2N\2 T 7
F==" E = (pc)® +(myc?) W=[Fedl=AE
t
KE = E —m,c’ m=ym, p=ymy E=ymy’ ﬁ:ﬁ
E
E = l/ninerlialc2 pP= minertialv minertial = ymO py = 7}/
2
(1+&)'=1+ne sin€ = € COSEzl—% ef=1+e In(l1+é&)=¢
6 sin 6 cos 6 tan 0
0° 0 1 0
30° 1/2 J3/2 1/4/3
45° 1/42 1/2 1
60° V372 1/2 V3
90° 1 0 oo




